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ENGLISH VERSION

(1) Answer the following quetions.
(2) Draw the figure where you need.
(3) Right side show the marks of questions.

1  Long question :

(a) Explain the basic problems of economy. 14

OR

Discuss the types of Elasticity of Demand and its
factor effecting.

(b)y Write the concept of Average Cost and 14
Marginal Cost.
OR
Explain the meaning and characteristics of
Isoquants.
2  Short notes. (any two) 20
(1) Limitations of Market mechanism.

@
®
C)
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Measuring methods of Demand elasticity's.
Advantage of industries development.
Modern approach of cost.
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3  Worite in brief : (any six) 12
(1) Reasons of Basic Economics Problems.
(2) Meaning of Market mechanism.
(3) Definition of Elasticity of Demand.
(4) Meaning of Elasticity of income.
(5) Meaning and types of production function.
(6) Concept of fixed cost and variable cost.
(7) Concept of private cost and social cost.
(8) Meaning of internal economy and external economy.
4  Multiple choice questions : 10
(1) Resolving methods of economic problem of

@

3
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capitalism.
(A) Price mechanism (B) Central planning
D) Above all

In which economy the problems of scarcity found....

(C) Price control

(A) Socialist cconomy
(B) Capitalist economy
(C) Mixed economy
D) All economy

Market mechanism resolve the economic problem
like invisible hand, this concept given by

(A) Robinson (B) Samuelson
(C) Robertson (D) Adam Smith
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If demand is elastic than the scale of demand
elasticity's.

(A) e>1 B) e<l

©) e=1 D) Zero

Prime cost is

(A) Marginal cost (B) Fixed cost

(C) Variable cost (D) None of above

According to economies short period is a kind of
period in which

(A) All factors remain steady

(B) All factors remain variable

(C) One factor remain steady

(D) Law of diminishing return cannot applied

According to economies long period is a kind of
period in which ___ 2.

(A) All factors remain steady

(B) All factors remain variable

(C) Law of diminishing return applied
(D) Above all

Internal economies means

(A) Advantage of irm

(B) Advantage of industries development
(C) Advantage of internal trade

(D) Advantage of economic development
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Marginal cost means _______ .
(A) Cost of first unit

(B) Cost of middle unit

(C) Cost of additional unit

(D) Cost of last unit

(10) Advantage of industries development means ......
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(A) Internal economy (B) External economy

(C) Regional economy (D) All of the above
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